Fire Inspector II

Means of Egress


Chapter 7 Test

	Name:
	
	Date:
	


Directions: Write the correct letter on the blank before each question.
Objective 1:

Explain the importance of establishing occupant load.


1.
When should occupant load be established? (278)

A.
During plans review

B.
During building construction

C.
Prior to designing the building

D.
Immediately preceding post-incident analysis


2.
Where must occupant load be posted? (278)

A.
Near the entry

B.
Near the staff entrance 

C.
Near the emergency exit(s)

D.
Near the Fire Alarm Control Panel (FACP)


3.
Which of the following is NOT provided by model codes? (278)

A.
Ability to determine minimum travel distance between two exits 

B.
Ability to determine the number of people who may safely occupy a building

C.
Means to determine the capacity of each individual means of egress

D.
Means to determine how many people may safely exit a structure during an emergency



4.
What is the formula for determining occupant load? (279)

A.
Net Floor Area × Area per Person

B.
Net Floor Area ÷ Area per Person

C.
Gross Floor Area × Number of Persons

D.
Gross Floor Area ÷ Number of Persons



5.
Which of the following is a building or portion of a building that contains two or more distinct occupancies? (281)

A.
Double occupancy

B.
Multiuse occupancy

C.
Compound occupancy structure

D.
Multiple occupancies in one building

Objective 2:

Calculate occupant load of a multiuse structure.

Objective 2 is measured in Learning Activity 7-II-1.
Objective 3:

Explain means of egress capacity.


6.
Which of the following statements regarding means of egress capacity is MOST accurate? (284)


A.
It is determined by floor area.

B.
It is based on type of building construction. 

C.
It must be at least 1.5 times the occupant load.

D.
It does not vary with the addition of a sprinkler system.


7.
Which of the following is the required width per person in a stairway of a hazardous occupancy? (285)


A.
0.5 inches (12.7 mm)

B.
0.6 inches (15.24 mm)

C.
0.7 inches (17.78 mm)

D.
0.8 inches (20.32 mm)


8.
Which of the following is NOT an element of a means of egress? (285)


A.
Exit

B.
Exit access

C.
Exit corridor

D.
Exit discharge 


9.
Which of the following determines the total capacity for the entire means of egress? (285)


A.
Element with the largest capacity

B.
Element with the median capacity

C.
Element with the smallest capacity

D.
Difference between largest and smallest capacity
Objective 4:

Explain total exit capacity.


10.
Which of the following statements regarding total exit capacity is MOST accurate? (287)

A.
Procedures for determining exit capacity are uniform regardless of level of exit.

B.
The total of exit capacities cannot be less than the sum of all the capacities. 

C.
To calculate exit capacity, determine the capacity of each exit and subtract the lowest number from the highest.

D.
Stairways must be able to accommodate the greatest number of people expected to occupy all floors above.


11.
At least how many separate exits are required of a balcony with an occupant load between 500 and 999 persons? (288)

A.
2

B.
3

C.
4

D.
5
Objective 5:

Determine exit capacity.

Objective 5 is measured in Learning Activity 7-II-2.
Objective 6:

Explain exit arrangement considerations.


12.
Who determines exit arrangement for new construction? (289)

A.
Inspector

B.
Fire marshal

C.
Building owner

D.
Structural engineer


13.
How is travel distance measured? (290)

A.
On the left-hand wall along the natural path of travel

B.
On the floor along the centerline of the natural path of travel

C.
On the walking surface 6 inches (150 mm) away from the wall

D.
On the floor along the right-hand side of the common travel path


14.
The measurement of travel distance curves around corners or obstructions with ___-foot (m) clearance. (290)

A.
1 (0.3)

B.
2 (0.6)

C.
3 (0.9)


D.
4 (1.2)


15.
A corridor with no outlet to a means of egress is known as a: (291)

A.
cul-de-sac.

B.
blind corridor.


C.
cut passageway.


D.
dead-end corridor.


16.
Which of the following is the path all occupants travel in one direction before reaching a point where they may choose between two separate, distinct paths? (291)

A.
Travel path

B.
Occupant division trail

C.
Common path of travel

D.
Separation passageway


17.
Which of the following is NOT a question an inspector must answer to determine the effectiveness of a means of egress? (293)

A.
What is the total exit capacity in inches (mm), people, or both?

B.
What is the occupancy classification for the structure or portion of the structure?

C.
Are there dead-end corridors or common paths of travel that must be considered?


D.
What is the minimum number of occupants allowed for the particular occupancy?


18.
What is the FIRST step of calculating egress requirements? (293)

A.
Determine occupant load.

B.
Determine if egress capacity is sufficient.

C.
Determine egress capacity of each component.

D.
Determine most restrictive component of each route.
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